#### **RESOLUTION NO. 21-24**

A RESOLUTION OF THE CITY OF BELLE ISLE, FLORIDA, AUTHORIZING THE CITY MANAGER TO ISSUE A PURCHASE ORDER TO VENDORS APPROVED BY SCHOOL DISTRICT OF PALM BEACH COUNTY AND ORANGE COUNTY FOR PAVING AND RELATED SERVICES, PIGGYBACKING PALM BEACH SCHOOL DISTRICT ITB NO. #20C-46V AND ORANGE COUNTY BID Y20-1031-RM; AND PROVIDING FOR IMPLEMENTING ADMINISTRATIVE ACTIONS, SCRIVENER'S ERRORS, CONFLICTS, SEVERABILITY, AND AN EFFECTIVE DATE.

WHEREAS, the City of Belle Isle, a Florida municipal corporation (the "City") has the legal authority under F.S. §287.056 to "piggyback" onto a contract procured pursuant to by another governmental entity when seeking to utilize the same or similar services provided for in the said contract; and

WHEREAS, in accordance with Section 5-12 of the City Code and Section 4-6 of the City Purchasing Policy, adopted by the City Council on July 7, 2020, the City Manager may purchase services from current contracts of other governmental agencies ("Piggyback"), with City Council approval on any such purchase which exceeds Twenty-Five Thousand Dollars (\$25,000.00); and

WHEREAS, the requested Paving Service was competitively bid through District ITB#20C-46V and awarded to M&M Asphalt Maintenance (dba, All County Paving) under District Contract Number 20C-46V for a term effective June 22, 2020 through June 21, 2023 for use by all government entities; and

WHEREAS, the requested Paving Service was competitively bid through Orange County and awarded to Middlesex Paving, LLC under Orange County Contract Number Y20-1031-RM for a term effective June 30, 2019 through December 31, 2022 for use by all government entities; and

WHEREAS, the Palm Beach County School District and Orange County authorized the City of Belle Isle to Piggyback on their Paving contracts; and

WHEREAS, the City desires to piggyback on the existing Agreements with the Palm Beach County School District and Orange County to obtain competitive pricing for Paving Services; and

WHEREAS, M&M Asphalt Maintenance (dba, All County Paving) and Middlesex Paving, LLC have agreed to provide to the City, under the exact pricing, terms and conditions of Contract Number 20C-46V and Y20-1031-RM respectively, the requested paving services; and

WHEREAS, the City Council has determined that it is in the City's best interests to approve the issuance of a purchase order to Contractors for provision of Services.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF BELLE ISLE, FLORIDA:

**Section 1.** Authority of City Manager. The City Council of the City of Belle Isle, Florida, hereby authorize the City Manager to issue Purchase Orders to those vendors listed in Exhibit A, piggybacking agreements with the Palm Beach County School District and Orange County that have current contracts for Paving Services

Section 2. Implementing Administrative Actions. The City Manager is hereby authorized and directed to take such actions as he may deem necessary and appropriate in order to implement the provisions of this Resolution. The City Manager may, as deemed appropriate, necessary and convenient, delegate the powers of implementation as herein set forth to such City employees as deemed effectual and prudent. Section 3. Scrivener's Errors. Typographical errors and other matters of a similar nature that do not affect the intent of this Resolution, as determined by the City Clerk and City Attorney may be corrected. Section 4. Conflicts. All Resolutions or parts of Resolutions in conflict with any of the provisions of this Resolution are hereby repealed. Section 5. Severability. If any Section or portion of a Section of this Resolution proves to be invalid, unlawful, or unconstitutional, it shall not be held to invalidate or impair the validity, force, or effect of any other Section or part of this Resolution. Effective Date. This Resolution shall become effective immediately upon its passage and adoption. PASSED AND ADOPTED this \_\_\_\_\_ day of \_\_\_\_\_\_, 2021. **ADOPTED** this \_\_\_\_\_ day of \_\_\_\_\_, 2021 by the City Council of the City of Belle Isle, Florida. CITY OF BELLE ISLE Nicholas Fouraker, Mayor ATTEST: Approved as to form and legality:

City Attorney

Yolanda Ouiceno, CMC-City Clerk

### **RESOLUTION NO. 21-24**

#### Exhibit A

M&M Asphalt Maintenance Inc. d/b/a All County Paving
Middlesex Paving, LLC



THE SCHOOL DISTRICT OF PALM BEACH COUNTY, FLORIDA

Purchasing Department 3300 Forest Hill Boulevard, Suite A-323 West Palm Beach, FL 33406-5813 Phone: (561) 434-8214 Fax: (561) 963-3823 www.palmbeechschools/.org/ourchasing DARCI GARBACZ DIRECTOR MICHAEL J. BURKE CHIEF FINANCIAL OFFICER

May 4, 2020

M&M Asphalt Maintenance Inc. d/b/a All County Paving 1180 SW 10th Street Delray Beach, FL 33444

Attn: Jeffrey Cohen

Email: publicworks@allcountypaving.com

Subject: Letter of Agreement

Bid Number: 20C-46V

Title: Paving and Drainage Services
Contract Term: June 22, 2020 through June 21, 2023
Contact Information: Debra Hammerschlag, 561-434-8229

Dear Mr. Cohen:

The School District of Palm Beach County, Florida, has accepted your offer to renew Bid Number 20C-46V to furnish services for the contract of Paving and Drainage Services. This acceptance is subject to compliance with the bid specifications, terms and conditions, all pertinent laws of the State of Florida and instructions as determined by the General Counsel for the School District.

Please check your certificate of insurance (See Special Condition "S" "INSURANCE REQUIREMENTS") to confirm that it is current. If it is not current, please email us an updated original certificate of insurance to insurance certificate@palmbeachschools.org. or fax to 561-963-3823 within seven (7) days of this notification. Your insurance company is required to have the School Board of Palm Beach County, Florida, NAMED AS AN ADDITIONAL INSURED AND MUST REFERENCE THE ABOVE BID NUMBER.

Purchase orders may be issued to cover supplies / equipment / services (choose one) as the need arises. Purchase orders are your notification to proceed with fulfilling the School Districts request for supplies / equipment / services (choose one). Shipment without proper authorization may result in nonpayment.

If you have any questions, please do not hesitate to call my office at <u>561-434-8229</u>. Thank you for renewing your bid and we are looking forward to doing business with you and your company.

Sincerely,

## Danci garbase

Darci Garbacz, C.P.M., Director Purchasing Department

CC: bid file

Debra Hammerschlag, Purchasing Agent



The School District of Palm Beach County, Florida
A Top-Rated District by the Florida Department of Education Since 2005
An Equal Education Opportunity Provider and Employer

Revised 4/14/16

# School District of Palm Beach County Unit Pricing 2020-2023

	20C-46V BID	SUMMARY	DOCUMENT				
This Bid S	summary Document must be used to submit prices and	must be up	loaded to Demar	ndstar.	Prices submi	tted I	n any other format
	e accepted. Vendor to complete ALL highlighted area						,
VENDOR	NAME:	M & M A	sphalt Maintenar	nce, in	c. dba All Cou	ntv P	aving
GROUP 1	: CLEARING						
ITEM	DESCRIPTION	UNIT	ESTIMATED QTY	UNI	IT PRICE		TOTAL
A.	Topsoli Stripping, stockpiled on-site	CY	1000	\$	7.00		7,000.00
В.	Tree Removal (Palms - all sizes)	ea	50	\$	1,250.00	_	62,500.00
C.	Tree Removal (less than 24" callper)	ea	45	\$	950.00		42,750.00
D.	Tree Removal (greater than 24" callper)	ea	30	Ş	1,250.00 7,000.00		37,500.00 525,000.00
E.	Clearing and Grubbing	No.	75 UP "1" (ITEM A.	\$	7,000.00	\$	\$ 674,750.00
	IOIAL	COST GRO	OP I (IICMA			_	\$ 074,750.00
SROUP 2	EARTHWORK						
ITEM	DESCRIPTION	UNIT	ESTIMATED	UN	IT PRICE	_	TOTAL
			QTY			ı	
A.	Excavation of Cut Areas to Stockpile	cy	1000	5	6.00	5	6.000.00
B.	Excavation of Cut Areas to FIII Areas	cy	2000	\$	7.50		15,000.00
C.	FII Material, Imported, Spread & Compacted	cy	4000	\$	12.00	\$	48,000.00
v.	Load and Haul Excavated Material (1-5 miles)	+	+	H		5	6,000.00
D.		cy	500	\$	12.00	•	0,000.00
E.	Load and Haul Excavated Material (5-10 miles)	CY	500	\$	13.00	\$	6,500.00
F.	Load and Haul Excavated Material (11-15 miles)	cy	200	\$	15.00	\$	3,000.00
G.	Load and Haul Excavated Material (16-20 miles)	су	200	\$	16.00	\$	3,200.00
H.	Load and Haul Excavated Material (20-30 miles)	су	200	\$	20.00	\$	4,000.00
L	Load and Haul Excavated Material (Own 30 miles-within county)	су	200	\$	25.00	\$	5,000.00
		COST GRO	UP "2" (ITEMS /	1I.)			\$ 96,700.00
GROUP 3	PAVING JALL WORK SHALL BE IN ACCORDANCE WITH LATEST FOOT S	_					
ITEM	DESCRIPTION	UNIT				ı	TOTAL
	Puborado		QTY				
	Subgrade  127 Subgrade, Compaging (AASSITO T 190)	SY	1000		0.00		8,000.00
A. B.	12" Subgrade, Compacted (AASHTO T-180) 12", Stabilized(LBR 40)	SY SY	1000	5	8.00 9.00		9,000.00
D.	Base Course, Primed	OT.	1000	ş	9.00	ş	9,000.00
C.	Shelirock, 6" Compacted Thickness	SY	1000	\$	14.00	\$	14,000.00
D.	Shellrock, 8" Compacted Thickness	SY	1000	\$	16.00	\$	16,000.00
E.	Limerock, 6" Compacted Thickness	SY	1000	\$	18.00	\$	18,000.00
F.	Limerock 8" Compacted Thickness	SY	1000	\$	20.00	\$	20,000.00 13.000.00
G.	Crushed Concrete, 6" Compacted Thickness	SY		Ş	13.00	ş	
H.	Crushed Concrete, 8" Compacted Thickness #S7 Stone with 35% Voids (for Porous	SY	1000	Ş	15.00	\$	15,000.00 20,000.00
L	#57 Stone with 35% Volds (for Porous Concrete)	cy	500	\$	40.00	*	20,000.00
	Asphalt Concrete Surface Course (New Paving-Co	ompacted 1	Thickness)			_	
J.	3/4" Type 8-3	sy	1000	Ş	8.25	\$	8,250.00
K.	1" Type 9-3	sy	1000	Ş	9.00	\$	9,000.00
L	1-1/4" Type 9-3	sy	1000	Ş	9.75		9,750.00
M.	1-1/4" Type 8-1	sy	1000	Ş	9.75		9,750.00
N.	1-1/2" Type 9-1	SY	1000	Ş	11.45	-	11,450.00
0.	2" Type S-1	SY	1000	Ş	13.00	•	13,000.00
P	4" Recycled Asphalt Pavement	sy	1000	Ş	9.00	\$	9,000.00
Q.	6" Recycled Asphalt Pavement	sy	1000	\$	11.00	\$	11,000.00

### BID ITEM SCHEDULE: Y20-R031-RM

	Year				
ltem Np.	Description	Estimated Quantity	Unit	Unit Price	Talal Price
1	SP 12,5 Asphalt in place, 1.8" Compacted < 5,500 SY	20,000	SY	\$ 11.70	\$ 234,000.00
2	SP 12.5 Asphall in place, 1.5" Compacted > 5,500 SY	275,000	SY	\$ 17.30	\$ 3,197,500.0
3	SP 12.5 Asphalt in place, 2" Compacted < 5,500 SY	5,000	SY	5 72 20	\$ 61,000,00
4	SP 12.5 Asphalt in place, 2" Compacted > 5,500 SY	100,000	SY	\$ 12,00	\$ 1,200,000.00
5	SP FC 9.5 Asphall in place, 1.25" (compacted) < 5,500 SY	3,000	SY	\$ 12.00	\$ 36,000.00
6	SP FC 9.5 Asphalt in place, 1.25" (compaded) > 5,500 SY	120,000	SY	5 9.60	\$ 960,000.00
7	Leveling, as specified	150	TON	\$ 275,00	\$ 41,280.00
8	Milling existing payament between 1" - 2"	240,000	SY	5 3.00	6 720,000.00
9	Mitting existing paventent between 2" - 3"	120,000	SY	5.3.00	\$ 360,000 00
10	Milling existing pavement between 3" - 4"	40.000	SY	5 3 00	\$ 120,000 00
11	Curb Reveal Milling	48,000	SY	5 0.75	\$ 35,000.00
12	Raise manholes whiser ring	30	EA	\$ 185.00	\$ 5,550.00
13	Raise water valves wiriser ring	30	EA	\$ 100,00	\$ 3,000,00
14	Installation of County Provided Manhole Risers	180	EA	\$ 60.00	5 9.000.00
15	installation of County Provided Water Valve Risers	48	EA	\$ 50.00	\$ 2,400.00
18	Base Repair 4* (SP 12.5 Asphall)	18,000	SY	\$ 33.25	\$ 596,500 00
17	Asphalt Berms .	1,200	TON	\$ 300.00	\$ 360,000 00
18	Asphalt Berms - Road not Paved by Contractor	120	TON	\$ 350.00	\$ 42,000.00
19	Pavement Markings 6" (paint white/yellow)	150,000	1F	\$ 0.75	\$ \$12,500,00
20	Peverrent Markings 6' (paint mossages and arrows (white)	150	EΑ	\$ 20.00	\$ 3,000.00
21	Law Enforcement for special MOT operations	20	HR	\$ 85.00	\$ 1,700.00
22	Message Boarda	20	Week	\$ 200.00	\$ 4,000 00
23	Indemnification	1	LS	\$100.00	\$100.00

#### Total Bid, Base Year

\$ 8,017,500.00

Option Year #1					
item No.	Description	Estimated Quantity	Ųnit	Unit Priça	Total Price
24	SP 12.5 Asphall in place, 1.5" Compacted < 5,500 SY	20,000	SY	\$ 12 00	8 240,000 00
25	SP 12.5 Asphall in place, 1.5" Compacted > 5,500 SY	275,000	SY	\$ 11.65	5 3,203,750.00
26	SP 12.5 Asphalt in place, 2" Compacted < 5,500 SY	5.000	SY	\$ 12.50	\$ 62,500,00
27	SP 12.5 Asphall in place, 2" Compacted > 5,500 SY	100,800	SY	\$ 12 25	\$ 1,225,000.00
28	SP FC 9.5 Asphalt in place, 1.25" (compacted) < 5.500 SY	3,000	ŝy	8 12.25	\$ 36,750.00
29	SP FC 9.5 Aephelt in place, 1.25" (compacted) > 5,500 SY	120,000	SY	\$ 8.50	\$ 1,020,000.00
90	Leveling, as specified	150	TON	\$ 275.00	\$ 41,250 00
31	Milling existing pavement between 1" - 2"	240,000	SY	\$ 3.00	\$ 720,000 00
32	Milling existing paventors between 2" - 3"	120.000	SY	5 3.00	\$ 350,000.00
33	Milling sxisting pavement between 3" - 4"	40,000	SY	\$ 3.00	\$ 120,000.00
34	Curb Revest Milling	48,000	SY	5 D.75	\$ 36,000 00
35	Raise manhotes wirlser ring	30	EA	\$ 185.00	\$ 5,550 00